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State Engineering Services (Prelims) Exam — 2016
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Q.No: 3
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Correct Answer

First Paper — First Shift

(Final Model Answer Key)

Purna, Girna, Bori and Shiva are
tributaries of which river

Tawa
Narmada
Son

None of these are correct

D

According to 2011 census the two
districts of M.P having maximum and
minimum literacy percentage of
females are:

Jabalpur, Jhabua
Indore, Alirajpur
Bhopal, Alirajpur

None of these are correct

C

The correct sequence of districts in
decreasing order of area is

Chhindwada, Shivpuri, Betul , Sagar
Chhindwada, Shivpuri, Sagar, Betul
Chhindwada, Sagar, Shivpuri, Betul

None of these are correct
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The main river/rivers of Bundel
khand Plateau

Betwa
Dhasan
Ken

All are correct

D

Who defeated Gwalior emperor
Vikramajit Tomar in 1517

Ibrahim lodhi
Shershah soori
Mohd-bin-tuglaq

None of these are correct

A

How much total area of Narmada
basin?

78,289 sq.km
98,796 sq.km
96,000 sq.km

None of these are correct

In which part of M.P Bandhavgarh
national park is situated.

BundelKhand
Central India
BaghelKhand

None of these are correct
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In Mourya Period the western part of HIEgT 7 HelaT &I qREH H1IT Hafecent

Malwa was known as Awantika
whose capital was Ujjain and eastern
part was known as Akra whose
capital was

Vidisha

Raisen

Bhopal

None of these are correct

A

The C.M helpline number in M.P is

139
181
180

None of these are correct

Son of Naresh Mandhata who
defeated Gandharvs is

Muchukund
Purukuts
Kirtvirya

None of these are correct

Ancient name of Damoh was
Dasharn

Tundiker

Vats

None of these are correct
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Kandariya Mahadev temple was
situated in

Khajuraho

Dhar
Mandu

None of these are correct

A

Rani Awantibai is related to which
place

Ramgarh(Mandla)
Jabalpur
Katni

None of these are correct

A

When Shahid Chandrashekhar Azad
was born in Bhabhra (Alirajpur)?

23" July 1905
23" July 1907
23" July 1906

None of these are correct

C

Amjhera regime is related to which
district

Jhabua
Dhar
Khangone

None of these are correct
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In year 2009 which of the following
"Kinnar" elected as mayor of Sagar
municipal corporation

Shabnam Mausi
Kamla John urf Kamla Mausi
Kamla bua

None of these are correct

C

Whose main writtings are "Kaviraj Ki
Kundaliyan, Death or Murder and
Amar Balidan"

Ramdhari Singh Dinkar
Subhadra Kumari Chouhan
Atal Behari Vajpai

None of these are correct

C

Samir dad is related to which game
Cricket
Hockey
Football

None of these are correct

Where was Dhrupad singer kumar
gandharv born?

Madhya Pradesh
Karnataka
Chhattisgarh

None of these are correct
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Who is known as "Kathin Kavya Ka
Pret"

Kavi Keshavdas
Kamta Prasad Guru
Makhanlal Chaturvedi

None of these are correct

A

How may districts are there in
Jabalpur division?

5
6
7
8
D

Which city of M.P is known as the
"City Of Joy"

Mandu
Ujjain
Khajuraho

None of these are correct

A

Where is Rock Phosphate found in
M.P

Narasinhpur District
Jhabua District
Bhind district

None of these are correct
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First women IPS officer of M.P
service cadre is

Kiran Bedi
Asha Gopalan
Sarla Grewal

None of these are correct

The biggest cave group of M.P is
Pandava Caves
Shankaracharya Caves

Bhimbetka Caves

None of these are correct

C

Where is Tomb of Ghaus Mohammed

in M.P?
Shivpuri
Bhopal
Gwalior

None of these are correct

C

Chhahur is folk dance of which
region?

BaghelKhand
BundelKhand
Malwa

None of these are correct
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Which of the following is not a
literacy person of medival period?

Kumbhandas
Gajadhar bhat
Gorelal purohit

Bhavbhuti
D

Parvati Parinay , Chandishatak and
Mukut Taddik are written by

Kalidas
Keshavdas
Padmakar Bhatt

Banbhatt

D

When M.P Urdu academy is
established in Bhopal ?

1966
1976
1989

None of these are correct

First Tantya Bhil Samman in M.P is
given to whom?

Rajaram Mourya
Bheema Nayak
Shankarshah

None of these are correct
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Korku schedule tribe of Panchmarhi
region are known as

Mowasi
Bawaria
Ruma

Bandoria

D

The biggest and smallest National
highways in M.P are

NH 3, NH 25
NH 3, NH 27
NH 3, NH 76

None of these are correct

C

Where is Geo-Satelite
Telecommunication discovery centre
in M.P?

Bhopal

Indore

Guna

None of these are correct

C

Who is the writer of book "Raha
Kinare Baith"

Subhadra kumari chouhan
Shivmangal singh Suman
Keshvdas

None of these are correct

D
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Correct Answer

For the eligibility of Ladli Laxmi
Yojna, the birth of girl should be

1 Jan 2006 or after
1 Jan 2007 or after
1 Jan 2008 or after

None of these are correct

A

When Cheif Minister Gramsadak
Yojna started in M.P ?

April 2010
April 2007
April 2008

None of these are correct

A

The birth date of Dr. Bheemrao
Ambedkar (Indian constitution
writter) is

14 April 1890
14 April 1891
14 April 1892

None of these are correct

When High Court in Madhyapradesh
was established ?

1884
1882
1887
None of these are correct

D
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Q.No: 43

Where is Alkalide Factory in M.P ?
Neemuch

Barwani

Datia

None of these are correct

A

Who is known as "Kabir of Music
World"

Tansen
Kumar Gardharva
Ustad Alauddin Khan

None of these are correct

In "Devi Ahilya Samman" which is
given to woman folk artist, how
much amount is given

Two Lakh
Three Lakh
One Lakh

None of these are correct

A

"Narwar" the capital of Raja Nal is
situated in which district of M.P?

Gwalior
Datia
Shivpuri

None of these are correct
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C

The year of establishment of M.P
Sanskrit Academy is

1985
1995
1988

None of these are correct

A

Where is "Bidesiya Songs" are sung?

BundelKhand
BaghelKhand
Nimar

None of these are correct

The house of Bhils are known as ?
Koo
Hoo
Soo

None of these are correct

A

The agricultural method performed
by the Bhills is known as

Chimata
Bewar
Zooming

Padhat
A
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Q.No: 51

Which tribe performs Lahangi dance? "ol sJca" foh SieTollfcl 1 ocd & ?

Bhil #rer

Baiga S

Koul hrel

Sahariya e

D

Main god of Gond tribe is 7S iAol & JHE eadm ¢ -
Budha Dev ger &a

Thakur Dev ST &

Dulha Dev goel &d

All of these are correct T el

D

Where is the Fair of Mahamritunjay
of M.P is held ?

ACIYEA H HAGHI ST T HAT &gl ATl
g2

Rewa $ar
Ujjain 3ot
Omkareshwar 3R
Pachmarhi JIHET

A

Read the following passage carefully and answer the questions given
below them in context of the passage. Certain words/phrases in the
passage are printed in bold fonts to help you to locate them while
answering same of the questions.

The incidents that parents retell about their child's early speech usually
involve examples of the strange use of words .Having been warned that
the flies bring germs into the house, one child was asked what 'germs’
were and the answer was "some toy the flies play with ", It is not always
possible to attach so precisely the meaning that children give to the words
they use. It seems that during the early childhood many children use their
limited vocabulary to refer to a large number of unrelated objects. One
child first used 'bow-vow' to refer to a dog and then to a fur piece with
glass eyes .Other children often relate 'bow -vow' to cows or horses.

This process is called overextension .The most common process is to over
extend the meaning of a word on the basis of understanding of size ,shape
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Q.No: 53

and sound ,Next come movement and texture ,Thus the word 'ball 'extends
to all kind of round objects, including a doorknob and the moon or a 'tick -
tock' many initially mean a watch but can also be used for the car -horn
.This overextension is then followed by narrowing down each term as the
word is learnt .for example a child may mean 'ball' for each round object
like tomato, apple or a ball but has no confusion in picking out the apple
when asked to.

The child learn through antonyms much later .By the age of five years the
child has completed the greater part of the basic language acquisition
process.

The passage is mainly about :-

The process of developing meaning

The art of language

Adult learning versus adolescent process
None of these are correct

A

Read the following passage carefully and answer the questions given
below them in context of the passage certain words/phrases in the
passage are printed in bold fonts to help you to locate them while
answering same of the questions.

The incidents that parents retell about their child's early speech usually
involve examples of the strange use of words .Having been warned that
the flies bring germs into the house, one child was asked what 'germs’
were and the answer was "some toy the flies play with ", It is not always
possible to attach so precisely the meaning that children give to the words
they use. It seems that during the early childhood many children use their
limited vocabulary to refer to a large number of unrelated objects. One
child first used 'bow-vow' to refer to a dog and then to a fur piece with
glass eyes .Other children often relate 'bow -vow' to cows or horses.

This process is called overextension .The most common process is to over
extend the meaning of a word on the basis of understanding of size ,shape
and sound ,Next come movement and texture ,Thus the word 'ball 'extends
to all kind of round objects, including a doorknob and the moon or a 'tick -
tock' many initially mean a watch but can also be used for the car -horn
.This overextension is then followed by narrowing down each term as the
word is learnt .for example a child may mean 'ball' for each round object
like tomato, apple or a ball but has no confusion in picking out the apple
when asked to.

The child learn through antonyms much later .By the age of five years the
child has completed the greater part of the basic language acquisition
process.

A child uses expression like 'bow vow' to
Relate meaning with object

Relate meaning with size

Relate meaning with sound

Relate meaning with colour

C

Read the following passage carefully and answer the questions given
below them in context of the passage certain words/phrases in the
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passage are printed in bold fonts to help you to locate them while
answering same of the questions.

The incidents that parents retell about their child's early speech usually
involve examples of the strange use of words .Having been warned that
the flies bring germs into the house, one child was asked what 'germs'
were and the answer was "some toy the flies play with ", It is not always
possible to attach so precisely the meaning that children give to the words
they use. It seems that during the early childhood many children use their
limited vocabulary to refer to a large number of unrelated objects. One
child first used 'bow-vow' to refer to a dog and then to a fur piece with
glass eyes .Other children often relate 'bow -vow' to cows or horses.

This process is called overextension .The most common process is to over
extend the meaning of a word on the basis of understanding of size ,shape
and sound ,Next come movement and texture ,Thus the word 'ball 'extends
to all kind of round objects, including a doorknob and the moon or a 'tick -
tock' many initially mean a watch but can also be used for the car -horn
.This overextension is then followed by narrowing down each term as the
word is learnt .for example a child may mean 'ball' for each round object
like tomato, apple or a ball but has no confusion in picking out the apple
when asked to.

The child learn through antonyms much later .By the age of five years the
child has completed the greater part of the basic language acquisition
process.

'Over-extension' means
Not understanding

Bring additional meaning
Rejecting the word
Maintaining silence

Read the following passage carefully and answer the questions given
below them in context of the passage certain words/phrases in the
passage are printed in bold fonts to help you to locate them while
answering same of the questions.

The incidents that parents retell about their child's early speech usually
involve examples of the strange use of words .Having been warned that
the flies bring germs into the house, one child was asked what 'germs’
were and the answer was "some toy the flies play with ", It is not always
possible to attach so precisely the meaning that children give to the words
they use. It seems that during the early childhood many children use their
limited vocabulary to refer to a large number of unrelated objects. One
child first used 'bow-vow' to refer to a dog and then to a fur piece with
glass eyes .Other children often relate 'bow -vow' to cows or horses.

This process is called overextension .The most common process is to over
extend the meaning of a word on the basis of understanding of size ,shape
and sound ,Next come movement and texture ,Thus the word 'ball 'extends
to all kind of round objects, including a doorknob and the moon or a 'tick -
tock' many initially mean a watch but can also be used for the car -horn
.This overextension is then followed by narrowing down each term as the
word is learnt .for example a child may mean 'ball' for each round object
like tomato, apple or a ball but has no confusion in picking out the apple
when asked to.

The child learn through antonyms much later .By the age of five years the
child has completed the greater part of the basic language acquisition
process.

'Precisely’ in the text means :
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Perhaps
unmatched
somewhat
exactly

D

Read the following passage carefully and answer the questions given
below them in context of the passage certain words/phrases in the
passage are printed in bold fonts to help you to locate them while
answering same of the questions.

The incidents that parents retell about their child's early speech usually
involve examples of the strange use of words .Having been warned that
the flies bring germs into the house, one child was asked what 'germs’
were and the answer was "some toy the flies play with ", It is not always
possible to attach so precisely the meaning that children give to the words
they use. It seems that during the early childhood many children use their
limited vocabulary to refer to a large number of unrelated objects. One
child first used 'bow-vow' to refer to a dog and then to a fur piece with
glass eyes .Other children often relate 'bow -vow' to cows or horses.

This process is called overextension .The most common process is to over
extend the meaning of a word on the basis of understanding of size ,shape
and sound ,Next come movement and texture ,Thus the word 'ball 'extends
to all kind of round objects, including a doorknob and the moon or a 'tick -
tock' many initially mean a watch but can also be used for the car -horn
.This overextension is then followed by narrowing down each term as the
word is learnt .for example a child may mean 'ball' for each round object
like tomato, apple or a ball but has no confusion in picking out the apple
when asked to.

The child learn through antonyms much later .By the age of five years the
child has completed the greater part of the basic language acquisition
process.

Why does a child use strange words?
To learn language and it's process
The parents don't teach the child

The child lives alone

The child can't hear the correct sound

A

Read the following passage carefully and answer the questions given
below them in context of the passage certain words/phrases in the
passage are printed in bold fonts to help you to locate them while
answering same of the questions.

The incidents that parents retell about their child's early speech usually
involve examples of the strange use of words .Having been warned that
the flies bring germs into the house, one child was asked what 'germs’
were and the answer was "some toy the flies play with ", It is not always
possible to attach so precisely the meaning that children give to the words
they use. It seems that during the early childhood many children use their
limited vocabulary to refer to a large number of unrelated objects. One
child first used 'bow-vow' to refer to a dog and then to a fur piece with
glass eyes .Other children often relate 'bow -vow' to cows or horses.

This process is called overextension .The most common process is to over
extend the meaning of a word on the basis of understanding of size ,shape
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Correct Answer

Q.No: 57

o 0O wm >

Correct Answer

Q.No: 58

and sound ,Next come movement and texture ,Thus the word 'ball 'extends
to all kind of round objects, including a doorknob and the moon or a 'tick -
tock' many initially mean a watch but can also be used for the car -horn
.This overextension is then followed by narrowing down each term as the
word is learnt .for example a child may mean 'ball' for each round object
like tomato, apple or a ball but has no confusion in picking out the apple
when asked to.

The child learn through antonyms much later .By the age of five years the
child has completed the greater part of the basic language acquisition
process.

Size and sound relate to :
Eyes and nose
Eyes and taste
Eyes and ears
Ears and nose

C

Read the following passage carefully and answer the questions given
below them in context of the passage certain words/phrases in the
passage are printed in bold fonts to help you to locate them while
answering same of the questions.

The incidents that parents retell about their child's early speech usually
involve examples of the strange use of words .Having been warned that
the flies bring germs into the house, one child was asked what 'germs’
were and the answer was "some toy the flies play with ", It is not always
possible to attach so precisely the meaning that children give to the words
they use. It seems that during the early childhood many children use their
limited vocabulary to refer to a large number of unrelated objects. One
child first used 'bow-vow' to refer to a dog and then to a fur piece with
glass eyes .Other children often relate 'bow -vow' to cows or horses.

This process is called overextension .The most common process is to over
extend the meaning of a word on the basis of understanding of size ,shape
and sound ,Next come movement and texture ,Thus the word 'ball 'extends
to all kind of round objects, including a doorknob and the moon or a 'tick -
tock' many initially mean a watch but can also be used for the car -horn
.This overextension is then followed by narrowing down each term as the
word is learnt .for example a child may mean 'ball' for each round object
like tomato, apple or a ball but has no confusion in picking out the apple
when asked to.

The child learn through antonyms much later .By the age of five years the
child has completed the greater part of the basic language acquisition
process.

Moon here is used as
Round object

A satellite

A toy

Celestial body

A

Read the following passage carefully and answer the questions given
below them in context of the passage certain words/phrases in the
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Correct Answer

Q.No: 59
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Correct Answer

Q.No: 60
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passage are printed in bold fonts to help you to locate them while
answering same of the questions.

The incidents that parents retell about their child's early speech usually
involve examples of the strange use of words .Having been warned that
the flies bring germs into the house, one child was asked what 'germs'
were and the answer was "some toy the flies play with ", It is not always
possible to attach so precisely the meaning that children give to the words
they use. It seems that during the early childhood many children use their
limited vocabulary to refer to a large number of unrelated objects. One
child first used 'bow-vow' to refer to a dog and then to a fur piece with
glass eyes .Other children often relate 'bow -vow' to cows or horses.

This process is called overextension .The most common process is to over
extend the meaning of a word on the basis of understanding of size ,shape
and sound ,Next come movement and texture ,Thus the word 'ball 'extends
to all kind of round objects, including a doorknob and the moon or a 'tick -
tock' many initially mean a watch but can also be used for the car -horn
.This overextension is then followed by narrowing down each term as the
word is learnt .for example a child may mean 'ball' for each round object
like tomato, apple or a ball but has no confusion in picking out the apple
when asked to.

The child learn through antonyms much later .By the age of five years the
child has completed the greater part of the basic language acquisition
process.

What happens by the age of five to the child?

He loses memory of the past

Completes acquiring basic knowledge of language
Starts quarreling

Can't still identify objects

B

Note: - To make each sentence correct change the forms of the underlined
word.

I'm afraid tonight's performance is cancellation.
Cancel

cancelled

cancelling

No change

Note: - To make each sentence correct change the forms of the underlined
word.

Contractor was told to use strongful material for the bridge
Strengthen

Strongly

Strong

Strongs
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Correct Answer

C

Note: - To make each sentence correct change the forms of the underlined word.

Q.No: 61
Why some people act 80 child?
A childlike
B childishly
C childish
D children

Question Deleted

Q.No: 62
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Correct Answer

Q.No: 63
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Correct Answer

Q.No: 64
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Correct Answer

Note: - To make each sentence correct change the forms of the underlined
word.

Tourist is a major industry in Nepal.
Tourism

Tour

Touring

No change

A

Note: - To make each sentence correct change the forms of the underlined
word.

To protect people is the responsible of the government
response

responding

responded

responsibility

D

Note: - To make each sentence correct change the forms of the underlined
word.

What can you conclusion from the fact?
Concluded

concludingly

concluding

conclude

D
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Choose the correct alternative for each indirect speech from the given options

Q.No: 65

He said,"God knows. I have committed no sin ",

o 0O wm >

He called upon God to cry that he had committed no sin
He prayed to God that he had committed no sin
He called upon God to witness that he had committed no sin

He told God that he had committed no sin

Question Deleted

Q.No: 66
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Correct Answer

Q.No: 67
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Correct Answer

Q.No: 68
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Correct Answer

Choose the correct alternative for each indirect speech from the given
options

He said "They will go to Chennai",

He said that they would go to Chennai

He confirmed that they will leave to Chennai
He doubted that they would go to Chennai

He told that they would have to go to Chennai
A

Choose the correct alternative for each indirect speech from the given
options

His friends condoled him his bereavement.

in, with
with, in
for, to

with, on

Select the most appropriate word for the blank from the options:-

If kirit speaks the truth, he
will be acquitted

acquits

will acquit

will be acquitting

A


https://testbook.com/
https://play.google.com/store/apps/details?id=com.testbook.tbapp

Select the most appropriate word for the blank from the options:-

Q.No: 69
I carry some money in my pocket I loose my purse .
A if
B unless
C when
D in case

Correct Answer C

Choose the correct conversion of the sentence given below :

Q.No: 70
Mumbai is one of the richest towns in India.
A Mumbai is richer than all towns in India
B Very few towns in India are as rich as Mumbai
C No towns in India is as rich as Mumbai
D Mumbai is the richest town in India

Correct Answer B

Choose the correct conversion of the sentence given below :

Q.No: 71

Promises should be kept
A One should keep one's promises.
B You should keep your promises.
C Promises should be remembered.
D Keep your promise.

Correct Answer A

Q.No: 72 How many parts of speech in English grammar?
A Six

B Seven

Cc Eight

D Nine

Correct Answer C

Q.No: 73 The passive voice of the sentence "Open the door" is
A The door should be opened
B The door must be opened

C Let the door be opened
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D Let it be opened by you

Correct Answer C

Q.No: 74 "I am going to Mumbai tomorrow". In this sentence the word 'tomorrow' is
A Noun

B Pronoun

C Verb

D Adverb

Correct Answer D

Turn the following sentence into Active voice
Q.No: 75 "Football is being played by John"
Choose the correct one from the following alternatives.

John has played football
John has been played football
John is playing football

o 0O wm >r

John has been playing football

Correct Answer C

Q.No: 76 3AH HIA-TT Asg SATfAaTas AT 8 ?
A aram

B TR

C T

D HAUSH

Correct Answer B

Q.No: 77 T &elT, A ST oFalT , - F "3’ FiF -AT FIAH & ?
A FeUara®

B YRIdTIh

C ICECIEED

D foreggaras

Correct Answer C

Q.No: 78 FAA @ FlT-a71 3eTRVr Rt s FT A ?
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A
B
Cc
D
Correct Answer

Q.No: 79
A
B
C
D

Correct Answer

Q.No: 80
A
B
C
D

Correct Answer

Q.No: 81
A
B
C
D

Correct Answer

Q.No: 82

O O W

D

'@ FT TEHH T E _
-]

TH

-]

q

N

LGl

LY

FiT-TT e TATHTAS 2UeaTdell FT & ?

D

"farer I | A @ =T A H Fgraa w1 S ¥ _
At 3ii e iy Are a2 |
HTST-ITST AT 3R WU F BT T |
SaamsAE T S+ ¢ |

foraen e ST 3aa & Fdiv |

C

'seele’ O ereg FT RAEA § ?
Tadtern
wAH
eCica
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Correct Answer B

Q.No: 83 " HeATE T ATaTe ereg ¥ _
A e

B Imyfas

C fRera

D Cieic

Correct Answer B

Q.No: 84 g U faevor gt § _
A GUECD

B 3urfoia

C JTeoi

D sufaaer

Correct Answer D

Q.No: 85 ISET 3 gtar-aht w & 2
A et wfer

B A

c saisrer Wi

D gIH A FI§ T AL

Correct Answer A

Q.No: 86 -mmmﬁqmma%;'mﬁmwﬁa@%?
A Far gath
B T gt
C wam waeft
D ey FeaHt

Correct Answer C

Q.No: 87 ' A R peray FT AT R 2
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A &SN T ATl
B ITENT FT |IT
C Jr@t F1 arr
D i &1 9

Correct Answer B

Q.No: 88 FAH TS UsE dGHT § _
A geal

B &fix

C IGET]

D Ty

Correct Answer A

Q.No: 89 $H @ TF oG FT Hal agadel A T e ¢ _
A gT
B qrot
C Ry
D asT

Correct Answer B

Q.No: 90 "THITH' H A § _
A regAdisTg

B dogew

C FHAYRYG

D Tgalife

Correct Answer A

Q.No: 91 Fad ¥ TF H FHURT A Y _
A A
B Al
C ST
D RGEE]
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Correct Answer A

Q.No: 92 'foet & a1e e faae FTweRa Ue ¥ _
A wfafee

B R

C Re-for

D Rt

Correct Answer B

Q.No: 93 'TEE FT HA Faw § _
A TS FT W

B s & v =

C Y Y @

D WA WS

Correct Answer B

Q.No: 94 A F A aie-fAsde ¥ _
A q+ IF
B T + 3H
C daT + &
D o+ 3

Correct Answer D

Q.No: 95 e kAL krn Kird
A mefer

B HIR

C wefga

D gefraror

Correct Answer C

Q.No: 96 FIH & UF T AYG § _
A # IS el A IATE |
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B TE I 1T F TISEAHIOT & AT HRE |
C A o BT { TRAA D7 |

D a9 Ig FTH I 81T |

Correct Answer C

Q.No: 97 FHA G IFTYSE _

A /T FA WA gifed AR |

B ITYS T FS e AT |

C IE A9+ Fodl F AR FATE |
D A AT F§ TE 3F TR |

Correct Answer B

Q.No: 98 FIH A Fla-7T Aeg fasoy' F1 gAErh § ?
A BIET

B T

C JTSEdA

D #Ear

Correct Answer C

Q.No: 99 SoH U HTaaTas HAT & _
A FsE
B frse
C Hied
D gIdse

Correct Answer C

Q.No: 100 5TH ¥ UF WIFT AT § _

A s F&F Fherar ured 7 |

B q€ HFA Feal ¢ o AL a7 AT |

C 5e fafy e ge a9 &7 @ 7 7 |
D AT 39 75 I A4 Y =4 o o |

Correct Answer D
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